QUESTION BANK
GEOGRAPHY

UNIT-II
P 7—pIVY (Assertion-Reason) (01 Mark)

Answer Options (3w fa&eq( (for all questions)
(A) Both A and R are true, and R is the correct explanation of A.

A 3R AT TEYE, 3R R, A T TE SATEAT R |
(B) Both A and R are true, but R is not the correct explanation of A.
A 3R R 21T T E, ARt R, A T TEY AT FET F
(C) A istrue, but R is false.
ATET g, elfehel R ITT &1
(D) A is false, but R is true.
AT g, ifhel R TR &

QUESTIONS-
1. Assertion (&¥eT): In developing countries, a large proportion of the population is engaged in

primary activities.

Reason (RUT): Primary activities require minimal capital investment and are labor-intensive.
YT faraehe o # 991 ey wrufas afafldfat & deee gidr &
HRoT: wrufAw afafafedr sgaaa g aer 3R sH-age g g

2.Assertion (¥eT): Overfishing in coastal regions leads to a decline in fish populations.

Reason (SIUT): Modern fishing techniques increase fish production but also lead to depletion

of marine resources.

FY: IET & F TS Al s O ASTAr H TE&ar § FRrae 3mdr &
FHRT: JT[fTeh HSCN Tehgel T cToheileh HGOl Scdlcel I FGId &, SHfehel HACT
FaTerEt T e o I g1

3. Assertion (%¥eT): Manufacturing industries contribute significantly to the GDP of developed
countries.
Reason (®IUT): Developed countries focus on capital-intensive industries rather than labor-

intensive industries.

Fyet: AT 3T faewfia gt 1 g 7 Agcaqet aeee &d &
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FROT: [FHAT S HA-IGT 3NN & FAI Yoll-9T6eT 36NN G & Higd Fd
gl
4.Assertion (F¥eT): Industries are often located near raw material sources.

Reason (RUT): Transportation costs are a crucial factor in industrial location decisions.

HYT: 3T HFA Fod AT & dial & 9F T g &
FROT: IRae olrerd A v Aot # v Ageaqe! &R g g

5. Assertion (®¥eT): The share of the service sector in the economy increases as a country

develops.

Reason (IUT): Service sector activities require skilled labor and contribute to knowledge-

based economies.

HYA: G- PSS [ARRAT g &, Ideyaryr # Jar & fr JEfieRT Jedr §
HROT: [T 817 T IAATITAIT Ferer s T IRl WA ¢ R AA-3menRd
HcgaeEn3it & AerereT &Y €

6. Assertion (®YA): IT and research-based jobs are examples of quaternary activities.

Reason (SIUT): Quaternary activities involve knowledge-oriented work rather than physical

labor.

FYA: HSE 3R Aer IR Alpiar aqdes afafaftat & semeor g

FROT: Tdeh AT AR 7 & g AR ST R Hied gl g
7. Assertion (¥sT): Road transport is the most commonly used mode of transportation in India.

Reason (%RUT): Roads provide door-to-door connectivity, making them more accessible than

railways.

FYA: AT H 5o IRagT e 31 39AeT fhar S arer aRaga araa gl
HROT: Y5oh AR-V-GaR FaAfaefddl YTl el ¢, 'Fad I ¥od dr Jelell & 31fAh
et gl &l

8. Assertion (®YeT): Rail transport is more efficient for bulk goods transportation than road

transport.
Reason (SIUT): Railways have a higher carrying capacity and are cost-effective for long

distances.

FY: Aok ATl IR & T Yeld Tgh IRagel T Jolell H 3TH FHrrel gl B
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HROT: Teld I R dgeT &THAT 38 glch § 3R Ig &l gl & AT amra el
g &l
9. Assertion (YeT): Air transport is the fastest mode of transport.

Reason (IOT): Air transport is unaffected by geographical barriers like mountains and

oceans.

Y aTg IRGET I Al IRaEA AT g
FROT: I IRageT TeTst 3R HGERRT Sl sflenfores sremsit & 3rvenfda @ gl

10. Assertion (&¥UsT): Waterways are the cheapest means of transportation for heavy goods.

Reason (IUT): Water transport requires less fuel and has a lower maintenance cost than other

modes.
HYA: AR AT & IRAGT & oI FAART JIH TEAT AT g
FROT: STl IRAGT H S S8 FI IGTHRdT gldl ¢ AR STRI IWIWIT ARTT g
AT T Jelell H HA el B

11- FYA- A): HAUSET AR e a1 & 3nfer e & Ageaqut 1fAer s gl
FROT- R): SAMIR =M I 37 a3t 3R Q@13 & IculesT W &AW Shigd A &l AT
ot & TSeTst 3ot 91d JeielicAe ofeT gl &

Assertion (A): International trade plays a crucial role in a country's economic development.

Reason (R): Trade allows countries to focus on producing goods and services in which they have a
comparative advantage.

12- FYUF- A): TEIME HATSET AR FT Fgram &1 F AgedquT HfAwr e £
RUT- R): GIAsh e deLag HaaTde Fafaciadl # UN A ¢ A aRageT ofrerd
FH A g, F9Y IR T AET T gl

Assertion (A): Ports play a significant role in boosting international trade.

Reason (R): Well-developed port infrastructure enhances connectivity and reduces
transportation costs, leading to higher trade volumes.

13. HYUA -A): HaeT AR Rt gor & i e &7 Agcaqet siffe s 2
SRUT- R): SR 21T Y 37 a&3il 3R Qam3il & IculesT W &AL higd A & AT
ot & TSeTst 3ot 918 JoielicHe o8t gl g

Assertion (A): International trade plays a crucial role in a country's economic development.

Reason (R): Trade allows countries to focus on producing goods and services in which they have a
comparative advantage.
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gglddbctid 7o (Multiple-choice Questions) (01 Mark)

1. A farmer in Punjab uses modern irrigation techniques, while a farmer in Rajasthan relies
on traditional rain-fed agriculture. What geographical factor primarily influences this
difference?

YSTe FT U frarer amyfas R awdiel ST 39 Far B, JafE TerednT #7
frare aRuRe aut smaRa R W A3 Far 81 59 IO B T w0 { FT @r
shnfas srew wnfda wtar 2

a) Government policies (TSR A1)

b) Soil fertility (F&T T 3

¢) Availability of water resources (STel THTHAT ahl 3TclstIdT)

d) Market demand (STSTR @hT HTT)

2. Many fishermen in coastal India are shifting from traditional fishing to aquaculture.
What is the most likely reason for this shift?

AR dead! &= # F§ APIN IRIRF #AGell gz ¥ Tl FW (TFaFeN)
Y 3 9 W@ ¥ =7 dCaT FT N AT FROT F4T &2

a) Climate change affecting marine fish availability (STeldTg gRadel & HROT Fl?ia
FoTerl i Suesuar & Ha)

b) Higher employment opportunities in urban areas (& &3 # 3if8& SR & 3dIR)
c¢) Decreasing demand for seafood (Qzﬂia e geryt fr AT A fIRTae)

d) Government-imposed fishing bans (Y ¢aRT AGT Gohsel TX oMU 7T Gfdeer)

3. Why do commercial plantations in tropical regions primarily focus on crops like tea,
coffee, and rubber?

FwrEfeatly &t & IftfSas aeme geT w7 @ 9/, Frdr 3R @ S FEel )
I Hga @i

a) High demand in global markets (372a% STeIRT H 3T #HMM)

b) Abundance of labor (FIX HH ITels¥Id)

¢) Government subsidies (G Tfeda)
d) Cultural preferences of local populations (TJTIT STHAGEAT Hr {-Ii{-irjl?ldv EITQT&IWT&)

4.  Which of the following best explains why pastoral nomadism is declining globally?
famafaf@a & & wla a1 FRor VeF T W Wawr gAq e (gereeT) &
gea 1 FaH AT SATEAT HIAT §?
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a) Industrialization reducing grazing land (ﬁa@?ﬂw & HRUT TG 34;% H &)
b) Increasing literacy rates (FT&RAT &I & E(l-'c"ﬁ)

c) Shift towards organic farming (Sifde Wl & 3R dgerd)

d) Climate stability (STefarg &)

5. Why do automobile industries often develop in clusters, such as Detroit (USA) or Pune
(India)?
A 3T IHFW Foeed A F fAwfa §a &, 9 3gise (Fuav) a1 o
(3me)?
a) Availability of skilled labor and suppliers (FRIel 3# 3R TYfciehcii3i T STclstrd)
b) Government restrictions on expansion (FAEdR T TWRT Ffdee)
c) Presence of abundant natural resources (El'lfﬁa? TATAT T q_fI,Q?IT)
d) Lower transportation costs for raw materials (FTd HTeT sl hH IRAG lTITd)

6. Which of the following is a key characteristic of quaternary activities?
Prfafae & @ #l @ Tqee TRRiE & e R
a) Extraction of raw materials (hTd HTel T ﬁW@'UT)
b) Provision of high-level specialized services (3Td a1 faferse Aar3it & 3ueretran)
¢) Direct sale of goods (Eﬂﬂﬁ Fr gcger foshr)
d) Large-scale manufacturing (88 4T T ﬁﬁﬂzﬁ'UT)

7. Why are IT hubs like Silicon Valley and Bengaluru expanding rapidly?
RfFH 3o 3 drge Y IS g A @ 7 7@ @
a) High population growth (3T STeT&A E@'ﬁ')
b) Presence of universities and research institutions (%aaﬁmaﬁr 3R 3-1?]3:[?11?[ YT
T 3gTeUfa)
¢) Availability of raw materials (Td HTel T 3TcIeErdn)

d) Lack of other industries (37T 319N &l H@ﬁﬂﬁ )

8. Why is multimodal transport gaining popularity in global trade?
mmﬁag-mqm(ﬂmmm%)ﬁmm“w%?
a) It reduces costs and transit time (Ig oRTd 3R IRITHAT AT DI HH T g)
b) It depends only on rail transport (I8 hdel IoT IRAgA I AR T §)
c) It eliminates the need for ports (Tg siq{dllfa\i Fr TTTRAT AT P Sl %‘)

d) It increases fuel consumption (I§ YA HT WU eIl §)
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9.  Which factor plays the most crucial role in the selection of global shipping routes?
dRgsw RN aAnlt & aaa #F wa@ Agcaqot fAw Fla a1 FRF amar B2
a) Availability of skilled labour (FRIel Hf&RT I ITelstrdn)
b) Geographical location of ports (SEI3T@TI I HidMTeleh TAT)
¢) Political stability of countries (G2 &I ISl TEUIAT)

d) Climatic conditions along the route ('H'I'ff & qry Sfefdrg qﬁ'&ﬂﬁ'ﬂﬁ)

10. Which advancement in communication has had the most significant impact on e-
commerce?

FOR & 59 yorfa &1 §-Had W gad 3®¥F yara qs1 22

a) Introduction of fiber-optic networks (W—ﬁm Aeasd Hr 23T )
b) Growth of social media platforms (TTeTel Ff3AT TolewHAT FT faT)
¢) Expansion of mobile internet (A8l Se{aic Hl [AEdR)

d) Satellite television broadcasting (@?T*TIB?I Collfdoted JaRO)

11. Despite having fertile land, why do some regions still depend on food imports?
3R A g & FrEse FO AT W IAF W AR F4 wa
a) Climate change and water scarcity (STeldrg gRadd 3R Ster Fr Hah)
b) Overproduction of cash crops (TRl BHEAT T HcAThh 3cdIG)
¢) Lack of labor force (3 &ol I &)
d) High cost of transportation (IRdg=T &I ITd HTITA)

12. Which farming technique is most suitable for ensuring long-term soil fertility?
AT e 34T gRRTE F & BT F @ R aeds Ted sugeEd B
a) Intensive farming (3Tged E(I:"ﬁf)
b) Crop rotation (hHcT dsh)
¢) Slash and burn agriculture ($IH E(I:TTET)
d) Use of chemical fertilizers (AATATAeh 3AXehl T 3UANT)

13. Why are many industries shifting from developed countries to developing nations?
#§ 3gaeT Aefaa ut ¥ Reade gt f 3w F41 sy=aRa & @ &
a) Availability of cheap labor (F&d % FI 3TeTsddn)
b) High environmental standards in developed nations (TAerf&d _if # 3Ta gaTaror
HIeTh)
¢) Better technological advancements (SgaX deheilchl JITTdY)
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14.

15.

16.

17.

18.

d) Rising land costs in urban areas (AgLT &3 H Fgdr 3{% SIEIG))

Which of the following is a major reason for the decline of traditional handicrafts in
India?

AR H IRURF gEaflieq & gda F1 W@ FROT FlT AT 82

a) Industrial mass production (m 3 YA W 3cureeT)

b) Decrease in consumer demand (SYHIFAT HET H HaT)

¢) Lack of government support (FR&RT THAYT &I FHaT)

d) Unavailability of raw materials (Td Tl hr Jfe]qelstdr)

Why is the gig economy growing rapidly in urban areas?

g &l & Aer 3rdfeyaewr A @ F4f 9 WY ¥

a) Increase in freelance job opportunities (ST FAlRRAT H ITEIT H Ej?{ﬁ)
b) Decline in permanent employment (FURIY ISHIR H FRTaC)

¢) High demand for specialized services (Taferse [qart & 3Ta 3=I'I'clT)

d) All of the above (IR THT)

Which of the following best explains why quinary activities are concentrated in
metropolitan cities?

ffaf@a & @ sla w1 FRor 9arar § 5 Faad afafafat meeeRt § e
a1 gl &7

a) Presence of corporate headquarters (?ﬁ'CIﬁE' HEITeld $r 3ufyfa)

b) High literacy rates (3Td Gl &)

¢) Access to natural resources (‘;I'I?(Ifﬁa? TATHAT hT 3TcletrdT)

d) Lower population density (8 STTHEIT Helcd)

Why are high-speed rail networks more successful in some countries than others?

Fo qut # g$-¥is I AeadF 3w At F o F IVF wwA F=4 2

a) High population density and economic development (3T STTHEAT Helcd 3R e
)

b) Availability of alternative transport (?m%qm gRage &I 3Terstdn)

¢) Government restrictions on private transport (faIil IRage W TTHRT Ffaae)

d) Climatic conditions favoring rail travel (W IET & fow 3ieihel STeldry qﬁ?@uﬁ?ﬁ)

Which of the following best describes the role of e-commerce in global trade?
dfteF wR & A 7 qfw F FEafaf@a & F Fla 9@ oot afvla
AT 82
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19.

20.

a) It reduces dependence on traditional markets (Ig IRUR STOMRT G fRar & FEar

®)

b) It limits trade to local regions (Ig§ SITIR I TATAT &3 doh AT HIdT %’)
¢) It increases transportation costs (Ig IRdgeT oI SGIdl %’)
d) It slows down product distribution (IJg 3cuTe, faaRUT & AT FAT )

Why are Special Economic Zones (SEZs) important for international trade?
HTET AR F e R{aw snfds &7 (SEZs) 74t Ageaqor &7

a) They provide tax benefits and trade incentives (3 & T 3R AR UG UG
A 8)

b) They increase local employment (3 TATART ISR deld &)

¢) They encourage domestic tourism (3 El'l?-j'\ qded I Uicared Al §)

d) They reduce urban congestion (3 & HIS &I A I g)

Which technological advancement has played a key role in reducing trade barriers
between countries?

FiT @ aweher worfa et F T AR At B FH IS T Ageaqr AT
farsm @& @2

a) Blockchain technology in financial transactions (Tai T oeT-¢oT & sollehde] RETICD)

b) Expansion of railway networks (3¢1d scasd ol TAEAR )
¢) Growth of print media (e #Hfsar &1 fawm)
d) Increase in postal services (3Teh TAT3T H Elc?.’\ﬁT)

3Id &g Si¥lg g7 (Very short answer questions (01 Mark)

Which type of farming is commonly practiced in the Amazon Basin due to dense forests and
low technology use?

T FIT W FR GER § S AT AT A gR Sl IR FA dweArR F FROT
vafaa &

Which livestock rearing practice is dominant in countries like Argentina, Australia, and the
USA?

qerTersT Y i W ggufa i, steefoar 3 e Su gt # wm

8|Page



10.

11.

12.

13.

14.

Which form of fishing is highly commercialized in countries like Japan and Norway?

AT UTelsT &1 HIT AT YHR A9 3R A1d 39 3o & 31 caawRe & @
g ST &7

Which primary activity involves the extraction of valuable minerals from the Earth's crust?

Fler @ grufas AfafRfer gedt & 378 FaF § sgAeT @le F Fswdo @
i B

Which type of agriculture is most vulnerable to climate change and uncertain monsoon

patterns?

R #1 Fla &1 §FR Feayg Rada IR JfARTT AN ded & gia qed
It wagarier &2

Which term describes the large-scale production of goods using advanced machinery in
factories?

Y 9fFaT A FAT FEd § OHA FREE F 3ewa 7l @R 92 Y W
FEIHT FT Icures AT Srar 32

Which industry is responsible for converting raw cotton into finished textiles?

FIT AT 3GANT Fed FIW F IR T H d@os F AT 3aerdt 2

Which industrial system follows the Just-in-Time (JIT) method to minimize storage costs?

&l a1 3iEAAF el HERUT ANTT F FA WA F AT FEE-gA-egA (JI7) Ay
T YTeleT T 82

Which type of manufacturing involves assembling different components into a final product?
fAator fr e BT § [AfeT st F Szt 3w 3o T9/T ST 2
Which energy-intensive industry is crucial for infrastructure development and urbanization?
FlT AT FAT-ITET AT gAAE TR F FE A asdiwor F v At
Which sector includes services like banking, insurance, and tourism?

sl a1 &7 dfFer, fiAr 3 gdea A a3t F anfAe Fwar B

Which type of economic activity is associated with knowledge-based services such as research
and IT?

Fi @ e afafafer e 3 m$d Sl Ae-araRa danat @ weafva

Which mode of business is growing rapidly due to digital transactions and online shopping?

FIT AT U Alsa Bfoed e 3R AT Gied & HRor asht & ¢ @
&

Which type of employment is characterized by flexible work schedules and freelance
opportunities?
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15.

16.

17.

18.

19.

20.

21.

22.

fre TR F AR A Rdvar ahe s Agge it e sEEd @ S @
e

Which quaternary activity plays a key role in economic planning and policy-making?

Fi @ aqds afafldfer snfis deen sk Aifa @atr § sgcaget s e
¥

Which mode of transport is considered most suitable for carrying heavy and bulky goods over
long distances?

FieT AT gRTger AegH 0 IR NF AT F G gl aF F I F AT gE@
39gFd AAT ST 87

Which modern form of communication is revolutionizing global connectivity through high-
speed internet?

FiT W1 IMYfAF FAR ATEIH 39 AfY S F ATAA ¥ ARaF FAFRS 7
Sifa T T&T &7

Which trade policy focuses on reducing import tariffs and promoting free trade?
Fi W AR AT 3T Yo F FA TR IR FFT AR F FEET A W

T Hfea FwA
Which global organization regulates international trade and resolves trade disputes?

i @1 ANTH oA FRTET AR 1 [AIHAT H3ar § 3R AR RQaet # g
T §?

Which transport innovation has significantly reduced travel time between distant locations?

FieT AT IRTEA FGEIR IEY TG F @ AT F FAT F FH FA F T 7
T # I T31 Feall 9eIINg HiT AT &7

Which is the largest container port in India?

g€ SANUR SAIfd F47 Fgard! § 9 WeER [T F geEr & 3k A #F AT F&
¥ fow Afaar amp F #2

What is the trade policy called where the government promotes exports and restricts imports?

org Farvig 97 (Short answer questions (02 Marks)

Explain how subsistence farming differs from commercial farming in terms of scale and market
orientation.
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10.

11.

12.

3yshfdeT R 3k aifofoas R dae stk aomR serdiaor & d@af & F@
oot 8 wasmEUl

Why are climatic conditions a major determinant of primary activities in different regions?
Rt el 3 sl AR & BT Sy & Rl o g e w9
gt &

Describe two ways in which globalization has influenced secondary economic activities.
dedigor g1 gfadaw nfdw afafdfal & e @ & o aF aftha fifaw
Why is the service sector growing rapidly in developing countries like India?

HRT A Reraefia gt # dar &7 g afa & F4f 95 W

How does an efficient transport system contribute to the economic development of a country?

T gHTd 9RagsT gomell fREY 3o & i e & @ aee i 2

A region has fertile land but poor transportation facilities. How would this impact its
agricultural output?

tF & f qfA 3uens §, Afre aRaee gRUT FAER &1 39S FR se9EET W
FIT THTG I3

A country wants to boost its industrial sector. Suggest two infrastructural developments that
can help achieve this.

T U A9 JHig@E & F qorar S Gmedr ¢ & g e & Rew &
gema & S gu A F A

A city with a strong banking and IT sector is experiencing rapid urbanization. What are two
likely consequences of this?

S e H Aoge I R IESD &7 & FRor A A Ao @ W@ B 3
ar wenfaa aRomeT T 8 Wehd 87

How can the development of modern communication technology impact rural economies?
s AR WA F1 arHior IfeTaTdr W FAT WHIG UF FhdT 82

A landlocked country is heavily dependent on imports. What are two major challenges it may
face in trade?

U TYATEY AU AT W HeAeF A ¥ SR # 3@ &) wopw getfor F=an
Feredl 93 Fehell &7

Analyze how mechanization in agriculture affects both employment and productivity.

FR F TwTor F1 Ao #R 3curEEwar al W FIT goH1T g3ar 3, feeyor
$ifaT)

What role does industrial location play in determining the success of a manufacturing unit?
Give two factors.
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

et Rafeaor s i awaar uiRa @ & s e fr 7 i
2t &2 &Y FR&F FamEv|

How do improved transportation and communication systems facilitate globalization?
gﬂ?gcqmaﬂsﬁtwmﬁeaﬁwwﬁaﬂ#ma?%?

Examine the impact of tourism as a tertiary activity on local communities.

qars afafafr & § F wded F1 T FHEEN 9 FAT GHE 954 8, S
HIfaT]

Why do quaternary activities play a crucial role in the knowledge economy?

AT IR rdegavyr # aqds afafaftar sgcaqer sffwr w4t e &
How can the development of e-commerce impact traditional retail businesses?

$FAE F AFw F1 IRINF G ST W FAT IHG 95 FFT 82

What challenges does excessive dependence on imports pose for a country's economy?

IS W At fsar el o fr srdeyae & Qv sla-ala @ gatfoat
3cqeel HT Wahall 87
How do changes in global trade policies impact India’s exports? Give two examples.

IRTF car Afaat & sgaT sRaT F T F HF wlRa s 2 serIr
difsrm

Discuss the environmental consequences of rapid industrialization in developing countries.
faerreflier gt & g sitg@efetor & gt gRomEEr o =9t fifaw

How does an increase in fuel prices impact different modes of transport?

$umr 1 Poral F e IRAE & AT THa F B TR F B

What is the difference between bilateral and multilateral trade agreements? Explain with examples.
gfaualy 3k sguely AR wwgitdl & FA1 W @ar ¥2 3arer WRT Tave F
SedlhTor FRTSEAT AR F FF TS FIT 22

How does globalization affect international trade?

o’y FaivIg 97 (Short answer questions (03 Marks)

Why are subsistence farming practices still prevalent in many developing countries despite
technological advancements?

@werhr warfer & araee RAemda dut & e FR god aeh off w9t y=foa
&)
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10.

11.

12.

A farmer in a mountainous region struggles to grow crops. Suggest two possible agricultural
techniques he can use and justify your answer.

(TF 9gTst 81T #H fhaer wudl #1 3 § oA Agqy X @ 8l 39 QA
waTfaa FR awelinl F1 gora & 3R I 3w F 3BT sgaw))
Analyze how climate change is affecting primary activities like fishing and forestry worldwide.

(Rredwor Y & Sreary aRads F AT gree AR aifadr S yrafas
afafafat #r vanfaa &1 @1 #1)

Evaluate the impact of globalization on traditional subsistence farming. Provide examples from
different regions.

RIRE fAalE F w dedwwor & wma &1 qeaiwa #¥) AffeT aE & semeor
&1)

Why do industries tend to develop near raw material sources? Explain with examples.

GEINT MAGR W Fod AT & Al & I8 F41 @A g &2 3aeor aiRka
HAATZCI)

A country wants to shift from an agrarian to an industrial economy. Suggest three key steps it
should take.

(@F 3T FN gure srdcaarar ¥ AT srdeaarar & aRads FaT1 T B
dIs 9@ FeHA FHAIT)

Analyze the role of Special Economic Zones (SEZs) in promoting industrial growth.

@y 3nfie &t (SEZs) it st e & sffer &1 Reawor 1)
Evaluate the environmental consequences of rapid industrialization in developing countries.
(rFraedter duit # e sitgzheor & qafaRoi aRoTET 1 AeEiET H)

How has the rise of the service sector contributed to the economic development of developed
countries?

@ar O F e 3 [AefAa 2t f s yorfa F FX Qe =T 82)

A small town has a growing tourism industry. Suggest two measures to make it more
sustainable.

(TF B AT A qdesT 35401 a¢ @1 ¢l 39 3% waa a=e & v & 39
HIET1)

Analyze how the IT revolution has changed the nature of employment in the quaternary sector.
(@redwor FY 7 3rEdr Fwifa & aqds & F s A wFfa F F4 e B1)
Evaluate the impact of digital banking on traditional banking services.

Bfoea e F1 aRaRe IRer darst | gHT F1 qeaEa F1l)
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

Explain how an efficient transportation system contributes to economic development.
(TF gt IRageT gomell 3w R & FF aeee @ &, gasmsel)

A coastal country is planning to improve its trade network. Suggest the best mode of
transportation and justify.

(TF T U HYA MR A H FUR FI AT Al a1 @7 g1 wafas
aRager @Terer &1 goa & 3R 3fa saaw)

Analyze the impact of high-speed rail networks on urbanization.

@ afd I Aecad FT ATHFOT W I3 FT1 fAeAvor Hi1)
Evaluate the challenges of sustainable transport in metropolitan cities.
GRET el # waa aRagsr i goAifaat 1 qeaiwa FX1)
Why is communication considered the backbone of globalization?
@edior Y fg & T F TEAR F F4 AT AGT 82)

A developing country wants to expand its e-commerce sector. Suggest two key steps to
enhance digital connectivity.

(T faFmaefier 3o 39 $-FAT OF FT ATAR FT GRar ¢ Bfoed FafFead
FI goT & AT & IHG FeH FASTI)

Analyze the role of free trade agreements (FTAs) in boosting international trade.

(FFT AR FASANAT (FTAs) Y FRTSOT AR F Jerar & H qfAar
faeayor wi1)

Evaluate the impact of global trade wars on developing economies.

(Remaefier srdegaeanat W 4RTF AR Jeut & T w1 JeaiET Hil)
aRasa & Rffe ae saisda @R # % wnla & 82 39g7d 380 &1 How
do different modes of transportation impact international trade? Give suitable examples.

FIT A9 o1 8 fF AF 37 3BAr W awEd) gl HRT F AT SR #F gefYr
FT GHdl &2 39 IR A gﬁ' FIDo you think government initiatives like 'Make in India' can

enhance India's international trade? Justify your answer.

g1 STl 97 (Long answer questions (05Marks)

1. Explain how the practice of shifting cultivation impacts the environment and the livelihood of

indigenous communities.

S Y TTEROT R AT FHCrT T TNt I HA FaiaT T &2

2. A farmer in Punjab wants to switch from wheat cultivation to horticulture. Suggest ways in

which he can increase productivity using modern techniques.
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YT 1 U AT g A Gl § qerEred H FIEACROT FAT arear g1 e
deheilehl T 3TN FIeh ScIGehdl d6T & 39T JTsU|

3. Compare the role of commercial farming and subsistence farming in ensuring food security in

India.
HRA # Wieg GReT AT e & raa@s Hf¥ 3R Fdlg N 6 s H
G

4. “Organic farming is the future of sustainable agriculture.” Justify the statement with relevant
examples.

" Y fehrs ST & afasT §1" 50 HUA AT 37T 30N & WY FAOIT
EAIc I

5. Design a sustainable farming model for drought-prone areas using traditional and modern
techniques.

URYR R 3MYfeh Tehellehl I ITANT FXeh F@T FeTidd &A1 & AT v iz
Y AT AR AT
6. Describe how the availability of raw materials influences the location of industries.

Fd AT I 3UTSHAT 3TN & TUTT Hl Hd FHATTAT Xl 8?2

7. A small-scale industry in Uttar Pradesh faces challenges due to lack of skilled labor. Suggest
measures to improve its efficiency.

3R YA H TH oY 3T FI FAT HH H FaAl & FHROT FATIIT ST FHAT AT
U3 T@T &1 SHM GaTdT g & fAv 3ur gensvl

8. Examine the impact of globalization on the manufacturing sector in India.

9Ra & R_fAAr &3 v dedfilaor & girg i F FL

9. Evaluate the role of Special Economic Zones (SEZs) in industrial development. Are they
beneficial in the long run?

et fare # 49w e &3t (SEZs) T ${fA T Hedisha T F7 A
SrepIfoeh &9 T TS 87

10- Propose a strategy for developing eco-friendly industries in India.

HRA H GHGRUT-3ehel 3eT [aRfAd Fa & fav v wEfa gedfad Y
11. Explain the role of the service sector in the economic growth of India.

HRA T 3k gefr H Aar &7 1 {fAer $Hr sarear Hiov|

12. An IT company in Bengaluru wants to expand its operations. Suggest key factors it should
consider for selecting a new location.

SITTE I Teh ST AT I HeToleT T fIEAR AT AG 81 AT T & TGl
& v 38 foeT 9@ FRAI W AR HEAT MR

13. Compare the impact of outsourcing in India and China. Which country has benefitted more?
AR 3R AT F ST & ga7d Fr Jolel h | b &or A1 31 oimT g3 &

14. Assess the role of knowledge-based industries in the economic development of India.

HRA & T faehrd & AT-3MTRA ST HT HABT HT 3MTehelsl HITAT|
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15.

16.

17.

18.

19.

20.

21.

Design a model for improving digital infrastructure in rural India to promote quaternary
activities.

arAoT HRA A agdes afafaftgt @ gerar & & fav Bfoed saatw= gura #1
T Al dIR |

How do different modes of transport support economic development?

s g & RAffes aRaga g 5T TR a8 8ia &7

Due to traffic congestion in urban areas, a city plans to introduce a metro system. Suggest key
aspects to consider before implementation.

A & A ATAATT SIS & HRUT Teh AGT ALY YUTe Y& Flel T ATSTAT =l
T &1 frareaasr @ uge foher 9@ weep3t W faem fRar Smen wnfge?

Analyze the role of e-commerce in reshaping traditional trade practices.

URURe SR GATHT 1 73T & o7 H S-hIAT T AR FT faRelwor e

“Improvement in transport and communication is directly linked to globalization.” Evaluate this
statement with examples.

"IREET IR HAR A GUR AROT & WY 3T §3HT §1" $H HUT FT 3aT6X0l
afgd Hedreha HIfaT|

Develop a plan to make India a global hub for international trade by improving its
transportation network.

HRA 1 IR AR &1 ARGk e, Telledl & TIU IRageT Acash H FUR &
T Iolell dIR Y

"TYTATT 3Tl o dfRaeh SToR & demaT ¢all IR & RISery IR & folv Ueh I0T=ITasd
hCH gl Hediehed Y X Teh ATGEIRS WHIT TEdfdd S| 56 HYgel "

"Promoting local products in the global market is a strategic step for India's international trade."
Evaluate this statement and propose a practical strategy.

Case Study Based Questions

Case Study 1:

HERTSE & U Po¥ g 7 fae o Ao F@ed # gur & iR qafas saar
R fRar &7 = & fov s Tfﬁ' (Organic Farming) 3 39T g1 4 ®HA OH
(Crop Rotation), FIEEIT (Composting), 3 wRfds Hre fa=oT (Natural Pest Control)
R A a1 g R §| S aRede @ I A e g ¥ e e
IR & Sifde 3caret fir Arer 3™ §1 gTellish, TATUNHRIOT deTd (Certification Costs)
3R srfafRaa AlgeA (Unpredictable Weather) S1&Y W 37T &Y Selr §'§ gl
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In a remote village of Maharashtra, farmers have adopted organic farming techniques to improve
soil health and reduce dependency on chemical fertilizers. They use crop rotation, composting,
and natural pest control methods. This shift has increased their income due to the high demand
for organic produce in urban markets. However, challenges such as certification costs and
unpredictable weather still persist.

J9:7 Auestions:
1. dfw FR 71 3, 3R I8 Ao W F AT @ aneEE 2 (FHs /

Understanding — 1 31)
What is organic farming, and how does it benefit soil health? (Understanding — 1 Mark)
2. BHA I Fad F X X GeWAF QA1 82 (35971 / Apply — | 31%F)
How does crop rotation help in sustainable agriculture? (Apply — I Mark)
3. 71 AT R afSas R & geea 3w Rew 2 9w s F gada #
UF d& &I (fFeaY0T / Analysis — 1 3i)

Is organic farming more sustainable than commercial farming? Give one reason to support
your answer. (Analysis — 1 Mark)

4. frumet w1 Sifaw R & v B galfaat &1 e Fer ggar ), 3k wER
wﬁﬁﬁm&aﬁ%n&gmﬁ/ﬁamm—zw

What challenges do farmers face in organic farming, and how can the government promote
this sector? (Evaluate — 2 Marks)

Case Study 2:

TORIT # U AV JeAEsd fAATT FIT (Automobile Manufacturing Plant) &I EAT91T
T VSR (Employment) & AT G d¢ g, o100y 3IITLAT &l gl Hell g1 gTeliteh, 37
&7 7 ag 3 FIT 9GWOr (Air and Water Pollution) ¢ I@&T &1 &IF o afdse oar
3YYR (Wastewater Treatment) T cTGTAT FT §, oifched TATARUIAGT I ATAAT § fob T&d
Agat & 3magwar g

The establishment of a new automobile manufacturing plant in Gujarat has boosted employment
opportunities and strengthened the economy. However, the region is experiencing rising air and
water pollution. The plant has installed a wastewater treatment system, but environmentalists
argue that stricter regulations are necessary.

9T / Questions:
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1. gRdas afafftat & sla-sla @ anf¥s afaffr s & (@77 /
Understanding — 1 31)
Which economic activities come under secondary activities? (Understanding — 1 Mark)
2. T AAAF &7 F o A T Gy F FA F F AT & 3UT q@Ew
(3TFNT / Apply — 1 )
Suggest two ways to reduce air and water pollution in an industrial area. (Apply — 1 Mark)
3. 41 teafeor 3R gaieRer WATT v Wiy T @2 @ikved 3w &) (fFeelyor /
Analysis — 1 31%)

Is industrialization and environmental protection possible together? Give a brief answer.
(Analysis — 1 Mark)

4. 3terefiEor & e AR At F AearEa ffSCI (FeTTFT / Evaluate - 2 )

Evaluate the benefits and drawbacks of industrialization. (Evaluate — 2 Marks)

Case Study 3:

ST (Bengaluru) T AR Hr 3T$E AT (India's IT Capital) FET STl 81 TeT F
AcAAAAT FIfAAT (Multinational Companies - MNCs) $RRA &, oa@ nfde agﬁr
(Economic Growth) g‘s‘ gl ofraT 310 aaa arer 3MSEr RS AT TEAT Too O RAT
TEeT FI HAAG (Real Estate Prices) 3R ITararad #r #ig (Traffic Congestion) §G I3 gl

Bengaluru is known as India’s IT capital due to the presence of many multinational companies
(MNCs), leading to economic growth. However, the rising number of high-paid IT professionals
has increased real estate prices and traffic congestion.

9 / Questions:
1. ﬂ@'ijﬂ? afds ARt & & 3erevor §fSvI (FFHT / Understanding — 1 3i)

Give two examples of quaternary economic activities. (Understanding — 1 Mark)

2. HIEE 3NN FT ARAT HeAGEYT TR FAT WHG USAT 82 (35177 / Apply — 1
3%)
How does the IT industry impact the Indian economy? (Apply — 1 Mark)

3. HE H IS 3T F FROT 3c¥eed AT FT 3ea@ | (f3ealyor /
Analysis — 1 37)
Mention the challenges created by the IT industry in Bengaluru. (Analysis — 1 Mark)
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4. F41 JTEE IgAT F fAFH & gl JTETAT W g9 a1 §? dF Aed IW
gl (W/Evaluate—2ﬂ?v’)

Does the growth of the IT industry put pressure on urban infrastructure? Justify your
answer. (Evaluate — 2 Marks)

HITA=7 TETRT 597 (Map-Based Questions)

1. Identify the largest country by area on each continent.
o WCAF HEledd H QTP F HJAR TG a3 QU Y GgaT HY|
2. Mark the major regions of nomadic herding worldwide.
o faeg # wop@ gHq TyuTEa & B RFTT
3. Locate the primary areas of commercial livestock rearing globally.
o fem # yaw afSas gepureer &=t #t gufv)
4. Highlight the extensive commercial grain farming regions across the world.
o fag # wuw aiffSas e @d aEt & Wit w3
5. Indicate the major mixed farming areas globally.
o faeg & yorm AfAa @ &=t # sfa w3
6. Point out the key Mediterranean agricultural regions worldwide.
o farg & yorw spTewEmT FR &E F i)
7. Identify the Ruhr industrial region on the world map.
o feT AmfE W W 3 a7 i wganr A
8. Mark the Silicon Valley in the United States.
o WIFA U IANFT # RAfAwr ot w1 RAfzaa #V
9. Locate the Appalachian industrial region in North America.
o 3 FANFT H vyenfags 3@ a7 ' gaiv)
10. Highlight the Great Lakes industrial region on the map.
o AWRE W AT aww @i & B @it w1
11. Indicate the terminal stations of the Trans-Siberian Railway.
o TH-UBARTA ¥ad & 3fad weuat & fa
12. Mark the terminal stations of the Trans-Canadian Railway.
o ErE-FHAETE W ¥ Hfaw v 7 ffead =
13. Locate the terminal stations of the Trans-Australian Railway.
o Tg-3Teefaag W F 3ifaw waal Fr v
14. Identify major seaports in Europe, such as London and Hamburg.

o FOT A WIE FHA FEAMEl A GgAT FY, A o R e
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15. Mark significant seaports in Asia, including Yokohama and Shanghai.

o TR # wg@ A detemel # Rftaa w99 A Ak awE)
16. Locate the Suez and Panama Canals on the world map.

o faeT AFRT W W 3R wamET T # qaiv)
17. Highlight major airports in Europe, such as London and Paris.

o IUT H yAy@ gaT$ 33t F WWifkha #, A weer AR IR
18. Indicate major airports in Asia, including Tokyo and Beijing.

o URE 3 vaE gard wgE F P S A sk A
19. Mark the megacities of the world, such as Tokyo and Delhi.

o faeT & AgEeeRl A RAffaa F, ¥ A 3k R
20. Locate the major areas of commercial dairy farming globally.

o feg # yiw afifcas o & & ) quid)
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